Unit 9 Day 5 Activity Simplifying Radical Expressions Questions kp‘ﬁ-

Work-and Answers from PowerPoint:
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Simplify each expression. Leave no radicals in the denominator.

1)V56 = J4dTY )7V -5 = | (Vs

mm——
* |2
‘—
9= {q = [2 it e | 530
—— 4
©
5) V343 +/7 6) 4V6 + 5vV6

7
W7+ e

35




I O\ [ 1 0V )
12,)_’—"‘ 12
= 8:2V3 b3 |43

12 12 3

it @lg (mik
9) 24/18 — 3+/45 + 74/128

2:32 =3NS+ 7-8V2
Wz -5 + V2

6292- W5

11) 72075
{5 15 ix Vy™

12 5y 3 JX - 7"’

,2)(3 IOJ_

13) 3V8(4V3 + 5v2)

12424 + 1510
i2{Hle +i5-4
12-2-46 + (o

e + 60

15) V25613s5 - Vtév5

el (s - el v
- rdr-s2Js - 43.v* IV

1ors2*v? rsv)

17) (2 + VEA)(V7 - 8v8) Foit]

26-4“’34- 5&—!'-‘10!7'{'

207 -1 + 5321 - o Wl

27 -32{2 + 542 '40@

<)

o JBEy
o

b

&R
10) V28 + 142 — 38—

Eﬁ +m 'ﬁ

4

5 rﬁ [3 {?q"
581"J|‘79¢L

14) V3(5V7 + 4
i 62l + 43

16) /30x2y3 - 6,/8xy

b §24003y"
bﬂ’e&ﬂ'
6- 415 - &y

Y_ztbcf 15x




